STAINLESS STEEL BOX BOWSPRIT INSTALLATION

When installing the box bowsprit, set it in place on top of the riser board and temporarily put a bolt through the sampson posts and loosely install the staysail eyebolt.  If they line up, then tie a string line from the end of the bowsprit to the mast.  This string should go down the center of the bowsprit.  You might want to attach the whisker stays to line up the bowsprit.  Align the riser board, you will probably have to put a ½” drill bit down the three holes in the bowsprit, riser board and deck to make sure they line up.  Install these three bolts first, and then the sampson post bolt, and the staysail eyebolt.  Attach the headstay and bobstay, and tighten all four turnbuckles.  Install the anchor rollers, and then install the platform and bow pulpit.  Cut the threaded rod to the necessary lengths so the ends of the rods do not extend beyond the sides of the platform.  You can then install a windlass to the plates welded to the bowsprit.

STAINLESS STEEL PIPE BOWSPRIT INSTALLATION

The wooden bowsprit and sampson posts can be removed completely, and a teak or plastic board installed over the holes.  Alternatively, the wooden bowsprit can be cut off just ahead of the sampson posts, or in front of the anchor windlass if one is mounted on top of the bowsprit.

The stemplate should be removed from the bow, and the new one fitted.  Install the new forestay chainplate on the stem.  The holes should line up with the stemplate that was removed.  If they do not, then you have one of the Westsails built using a different stemplate than most of the boats.  Either redrill the holes in the hull, or send the stemplate back marked with masking tape and ink lines for your hole location, and I will have a special one made up.  Caulk and install in place.

The platform boards should be removed if they have already been fitted, and the bowsprit fitted up into place with the end sockets and hull plates on loosely.  It can be tied and adjusted with three halyards; one on the forward end and one on each side of the pulpit at the lifeline attachment loops.  Pull the aft end up so the hull plates, with the ears up, are hard up against the rubrail, with the bowsprit at the proper rake.  You must visually check the rake to see it is correct.  Make sure the bowsprit is level athwart​ships, or trim the underside of the rubrails if necessary, then drill the four 3/8" holes on each side.  Caulk the hull plates, and bolt in place with 3/8" x 1-1/2" carriage bolts with backup washers on the inside.  Lube the threads on the 5/8” bolts to prevent galling,and attach the locking nuts.
Attach the headstay, using the chainplate extender on the turnbuckle, and the bobstay.  Attach the forestay, using the chainplate extender.  Re-adjust the bowsprit rake as necessary.  Use wood or plastic blocks to build up, and trim as necessary, to go between the welded plates and the bow on each side.  Drill, caulk and thrubolt with long 3/8" carriage bolts, with backup washers inside.

Drill thru the aft ends of the bowsprit tubes with a 1/4" drill for the locking bolts, and install a 1/4" bolt with locknut on each side.

Set the platform boards in place, and trim the aft ends to clear the hull.  Before bolting down, check to see that your anchor clears in the slot ahead of the roller, and if it does not, cut the opening larger.  Oil the cut edges, and bolt in place using the oval head bolts and locknuts.  Install self-tapping screws on any tapered boards on each side if necessary to secure any pointed ends.  Sand any sharp edges of the teak platform, then re-oil.

June, 2017
B – 4

